PRERRIL SR R T2

I =1 B2 z=
PEERR TR s A
N7l —R
HEhEE
thEE R B 1035
B rET
= H H B # A= L %R
=] 5 =
3 ? 1 N - (:_Egg %
81 EB T G E

811 AHAfEERCEAE—) -600,000 -19,430,961 -18,830,961 3,138.49

812 IR & TEH -6,939,708 -6,939,708

8124 MENAFFHECTFH—) -6,939,708 -6,939,708
813 EBEEN I FIRERACRE ) -600,000 -26,370,669 -25,770,669 4,295.11

82 HAthE8) 2 I 4 =

825 BN HAE S M HA & (E 2,128,527 2,128,527

82D B/ A HAE S M HAeh & -1,268,600 -1,268,600

827 HMIESN Z IF AR ACRE 859,927 859,927
83 W M AV E R B 2 PR —) -600,000 -25,510,742 24,910,742 4,151.79
84 HAWIIR G AT E e 59,618,405 61,325,750 1,707,345 2.86
85 HHARIR G AV E S 59,018,405 35,815,008 23,203,397 -39.32

15-38-5



